Chemistry 3202                 Ice table worksheet                         

1.  
0.463 mol/L of HI(g) is placed in a 1.00 L reaction vessel. The temperature is raised to 300C and maintained until equilibrium is established. At equilibrium, the vessel contains 0.119 mol/L of hydrogen gas and 0.119 mol/L iodine gas. Are the reactants or the products favored? Justify your answer. 

2.  
An equilibrium is established when bromine monochloride, BrCl(g), decomposes to form its elements at 200°C. If the initial concentration of BrCl(g) is 0.337 mol/L, and if the equilibrium concentration of chlorine gas, Cl2(g), is measured to be 0.0215 mol/L. Are the reactants or products favored.






3.  
At high temperatures, nitrogen and oxygen gases react to produce nitrogen monoxide. Calculate the equilibrium concentration of nitrogen monoxide if the equilibrium concentrations of oxygen and nitrogen are 0.457 mol/L and K is 1.3x10-4 at 1800 K. 

4.  
Initial concentrations of H2(g) and Cl2(g) in a flask were 0.576 mol/L. The mixture was allowed to reach equilibrium at 45°C. The equilibrium concentration of HCl(g) was found to be 0.356 mol/L. Calculate the equilibrium concentrations of the reactants. 

